

Podhurst Orseck, [REDACTED]

City National Bank Building, Suite 800
25 West Flagler Street
Miami, Florida 33130-1780

Miami (305) 358-2800
Fort Lauderdale (954) 463-4346

[REDACTED] # 59-1263738

November 23, 2008
Reference No.: 14996

Kirkland & Ellis, LLP
Attn: Jay P. Lefkowitz, Esq.
153 East 53 Street
New York, NY 10022

Client: 5502 -Kirkland & Ellis, LLP
Matter: 30608 -Epstein, Jeffrey (COMMON) adv. USA

Date	Atty	Services	Hours	Amount
09/29/08	KWE	Travel to and from [REDACTED] meeting with RCJ, Amy Josefsberg Ederi, SB, Dawn, [REDACTED] re: resources, evaluation, professionals, meeting with Amy Josefsberg Ederi and SB re: choosing evaluations; Email Amy Josefsberg Ederi, K. H.	4.00	1,700.00
10/03/08	KWE	Telephone call from Amy Ederi; Emails; miscellaneous re: appointment with doctors; Case management re: meeting with corroborative witnesses.	2.50	1,062.50
10/06/08	KWE	E-Mail from and to [REDACTED] conference w/ AJE	0.50	212.50
10/07/08	KWE	Review Jane Doe filings; telephone calls to and from Amy Ederi; case management re: interviews w/ phychologists; preparation of letters to [REDACTED] telephone calls to AJE	2.50	1,062.50
10/07/08	KWE	Prepared letter to KH re: documents, etc.; case management re: authority to represent, etc.	0.50	212.50
10/08/08	KWE	Telephone calls to and from [REDACTED]; telephone calls from AJE; e-mails re: tasks; scheduling evaluations; reviewed letter from [REDACTED] and part of; prepared letter to [REDACTED]	3.50	1,487.50
10/20/08	KWE	Luncheon meeting with RCJ and trial consultants; Prepared letters to clients; Telephone call from and to	1.75	743.75

Date	Atty	Services	Hours	Amount
10/21/08	KWE	AJE, SB; Reviewed letters to [REDACTED] E-Mail from and to A. Josefsberg Ederi; SB; [REDACTED]; Prepared completion of letters emails to clients; Prepared letters to [REDACTED].	3.50	1,487.50
10/28/08	RCJ	Preparation ; Research; Facts Investigation	1.00	750.00
10/28/08	KWE	Preparation of letters to [REDACTED] emails AJE, SB; Telephone call to AJE re: evaluations and telephone conference call from new client [REDACTED] Reviewed of [REDACTED] notes; Case management re: releases to schools; Information on RCJ re: loan needs.	2.00	850.00
10/29/08	KWE	E-Mail ; prepare letters; telephone calls to and from Amy; conference re: [REDACTED]; preparation of our notes, records, etc.	2.25	956.25
10/30/08	RCJ	Preparation ; Conference; Telephone	1.50	1,125.00
10/30/08	KWE	E-Mail ; case management re: confidentiality forms; e-mails; preparation for next interviews; conference w/ AJE and SB re: [REDACTED], conference w/ RCJ re: misc. issues	2.00	850.00
10/31/08	RCJ	Preparation ; Facts Investigation	0.75	562.50
10/31/08	KWE	Telephone call w/ AJE, SB and B. Macaluso re: needs and services; several telephone calls w/ Amy; e-mails; reviewed notes re [REDACTED], reviewed [REDACTED] sample reports; Long telephone call	4.00	1,700.00
11/01/08	RCJ	Preparation ; Conference; Telephone	0.75	562.50
11/02/08	RCJ	Preparation ; Telephone	0.50	375.00
11/03/08	KWE	Travel to and from West Palm Beach; Palm Beach interviews w/ [REDACTED] agent, [REDACTED] parents; conference w/ dr. day and [REDACTED]	12.00	5,100.00
11/04/08	RCJ	Preparation ; Telephone; Conference	1.00	750.00
11/04/08	IXY	Research ; gather personal information for each client; create chart for private investigator.	1.50	225.00
11/04/08	IXY	Preparation ; prepare packet for [REDACTED] police report and narrative from report on each client; redact names of other victims.	2.00	300.00
11/05/08	KWE	E-Mail ; Strategizing with AJE; Telephone call with AJE; Emails with [REDACTED] Telephone call with [REDACTED]	3.50	1,487.50
11/05/08	RCJ	Preparation ; Telephone	0.25	187.50
11/06/08	RCJ	Preparation ; Facts Investigation	0.75	562.50
11/07/08	JDP	Research of court docket, printing new documents and review of docket sheet	2.25	168.75
11/07/08	RCJ	Preparation ; Research	0.50	375.00
11/10/08	RCJ	Preparation ; Facts Investigation	0.75	562.50
11/10/08	KWE	Telephone call 's and emails to AJE and RCJ.	0.50	212.50

Date	Atty	Services	Hours	Amount
11/11/08	RCJ	Facts Investigation ; Preparation; Conference	0.75	562.50
11/11/08	KWE	Telephone call 's AJE; [REDACTED]; Conference with AJE; Meeting with [REDACTED]; Meeting/ interview with [REDACTED]	9.75	4,143.75
11/12/08	RCJ	Preparation ; Conference; E-Mail	1.00	750.00
11/12/08	KWE	Telephone call with AJE; [REDACTED] Telephone calls with AJE; Conference with Iliana Yarzabal; Reviewed Bar Ethics Counsel's letter opinion; Conference with RCJ; Prepared draft response; Telephone call with [REDACTED]; Email [REDACTED]; [REDACTED]; Telephone call FEC; Case management [REDACTED] poetry and records; Telephone call with [REDACTED]	4.00	1,700.00
11/14/08	RCJ	Preparation ; Conference; E-Mail	1.75	1,312.50
11/16/08	RCJ	Preparation ; Conference; Facts Investigation	1.25	937.50
11/17/08	RCJ	Telephone call ; Preparation; Research; E-Mail	2.00	1,500.00
11/18/08	JDP	Research of court docket, printing new documents and review of docket sheet.	1.25	93.75
11/18/08	RCJ	Preparation ; Research	0.75	562.50
11/19/08	RCJ	Facts Investigation	0.50	375.00
11/20/08	RCJ	Preparation ; Facts Investigation	0.75	562.50
11/21/08	RCJ	Facts Investigation ; Preparation	0.50	375.00
Total For Services:				\$38,506.25

Summary Of Services

	Hours	Rate	Amount
Jessica De Paula	3.50	75.00	262.50
Katherine W. Ezell	58.75	425.00	24,968.75
Robert C. Josefsberg	17.00	750.00	12,750.00
Iliana Yarzabal	3.50	150.00	525.00

Date	Expenses	Amount
11/19/08	Rep. of Documents: CJ7836-Copies of School Transcript & Student File	3.00
11/21/08	Professional Services: CJ8552-████████████████████/##11-12-08/E-C, F	5,212.94
11/23/08	Prof. Servs.: Susan E. Bennett, Esq./Inv.# 327 *see attached for details	11,515.00
11/23/08	Prof. Services: Amy Josefsberg Ederi, Esq. *see attached for details	97,781.25
	Photostats	523.80
	Facsimile Charges	7.00
	Telephone Charges	117.07
	Postage	10.02
	Total For Expenses:	\$115,170.08
	Total for Services and Expenses This Invoice:	\$153,676.33
	Total Amount Due:	\$153,676.33